Worksheet # 7 Name:

Provide the Scientific Notation or the Value:

(139,000 = 1 1.09 x 10° )
2. 1,570,000 = 12. 8,1 x 102 =
3920 = 13. 7.8 x 102 =
4 5,757,000 = 4. 4.1 x 10° =
> 214,000 = 1596 x 102 =
6. 1,916,000 = 16. 7.9 x 10* =
26,000 = 7. 52 % 10 =
8. 95,000 = 18. 4.201 = 10°
% 560 = 19 1.4 x 102 =
10. 6,200 = 20. 8.04 x 10°
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Worksheet # 7

Name:

Provide the Scientific Notation for the Value:

-

(1.

~

39,000 = 3.9 x 10*

1,570,000 = 1.57 x 10°

920 = 9.2 x 10°

5,757,000 = 5.757 x 101

214,000 = 2.14 x 10°

1,916,000 = 1.916 x 10

26,000 = 2.6 x 10*

95,000 = 9.5 x 10*

560 = 5.6 x 10°

106,200 = 6.2 x 10°

12

18

20

13.

14.

15.

16.

17.

19.

- 1.09 x 10° = 109,000

- 8.1 x 107 810

7.8 x 10° 780

4.1 x 10° = 4,100

9.6 x 10° 960

7.9 x 10* = 79,000

5.2 x 10* 52

+ 4.201 x 10° = 4,201,00(

1.4 %< 10° = 140

-+ 8.04 x 10° = 804,000
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